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#gE mER (FEXK) K k) BCER) 806k B#=iL (A) Bk (A) Esx (AN) BEBEs (A) FFx (A)

EET 2F 900 38 24 8.5 380 700 400 600 /
2= 2F 360 15 24 8.5 100 220 150 200 /
LBF2 2F 550 23 24 8.5 200 400 200 350 /

EigTaT 2k 240 30 8 8.5 / / / 150 /

BRI 1F 400 25 16 4.5 150 300 160 250 /
BRAT 1F 200 12.5 16 4.5 70 130 60 100 /
BRT2 i 200 12.5 16 4.5 70 130 60 100 /

BRI 1F 200 24 8 4.5 / / / 100 /

T 3F 80 10 8 4.5 30 50 30 30 20
W2 3F 96 12 8 4.5 40 60 30 40 20
VAP 1F 96 12 8 4.5 / / / / 12
VIP2 T £2F i 9 8 4 / / / / /
IR 2F 40 8 5 4 / / / / /
HhE=Z 3F 40 8 5 4 / / / / /
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